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Universe

Nakama_Rate

Universe_Step_End{}

Average_Nakama_Rate

All_Nakama_Rate
All_Nakama_Rate
Univ_Step_Begin 0

1

Universe.All_Nakama_Rate = Universe.All_Nakama_Rate + My.Nakama_Rate

I
Universe.Average_Nakama_Rate = Universe.All_Nakama_Rate / (Universe.Num_Reds +

Universe.Num_Blues)

1
IT (Universe.Num_Reds+Universe.Num_Blues) == then
Universe.Average_Nakama_Rate = 0
else
Universe.Average_Nakama Rate = Universe.All_Nakama_Rate / (Universe.Num_Reds +

Universe.Num_Blues)

end if




KK-MAS

Agt_Init

Agt_Init{
My.SEBANGO = My.id




Universe

Univ_Step_End{

dim i as integer
dim j as integer

dim All_Nakama_Rate As Double

// All_Nakama_Rate
For i = 0 to Universe.Num_Reds-1
All_Nakama_Rate= All_Nakama_Rate + Universe.Streets.RedTurtle_Nakama_Rate(i)

Next i

// All_Nakama_Rate
For j = 0 to Universe.Num_Blues-1
All_Nakama_Rate= All_Nakama_Rate + Universe.Streets.BlueTurtle.Nakama_Rate(j)

Next j

//
IT (Universe.Num_Reds+Universe.Num Blues) == then

0

Universe.Average_Nakama_Rate

else

Universe.Average_Nakama_Rate

end if

All_Nakama_Rate / (Universe.Num_Reds + Universe.Num_Blues)




